| Efficiency vs Dxy |
> 0.5

E R
s S e
S Rt R T T
U e s e et

efficiency

o
w
I

025

=
!
'

o

-

098551580 516 1820
TP dxy (cm)

-TestLowPT_1000evt
REFit-testLowPt_1000evt
REFit-OR-testLowPt 1000evt
REFit-ORK-testLowPt_1000evt
REFlt OR4 testLowPt 1000evt

| Efficiency vs Dz |

ooogg
100009
§ZZZS
OOOO(‘
AARAAA
nmnmmT

0.8

0.7

efficiency vs dz

I ___________________________________
0.52—
045 b IS N N —
: Lt
0.3 “+ Yo% SR 11 AR S
0.2F “* ' .........................
o L ORI —
5:431.052— ----------------------------- | _______________________
B R 111

093556 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


